DublSoft

Premium Towel and Tissue Products



WausauPAPER®

1150 Industry Road • PO Box 189 • Harrodsburg, Kentucky 40330-0189 • 800.723.0001 • wausaupaper.com

DublSoft® Towel and Tissue Products

The DublSoft® towel and tissue line offers the premium quality and refined image that is expected in the most upscale facilities. Featuring premium embossing and stylish packaging, DublSoft® products will appeal to your most discriminating customers and patrons. The complete line includes roll and traditional folded towels, OptiFold® folded towels, OptiCore® and universal bath tissue, and facial tissue. For premium quality and appearance, choose DublSoft® premium towel and tissue products



DublSoft® Premium Roll Towels

DublSoft[®] roll towels offer high-capacity benefits combined with a premium appearance. Featuring an exclusive leaf design embossing pattern, DublSoft[®] roll towels are ideal for high-traffic areas in office buildings, healthcare facilities and restaurants.



DublSoft® Premium Folded Towels

DublSoft[®] folded towels are designed for Class A office buildings, restaurants, and hotel convention facilities. The leaf emboss pattern provides enhanced softness and absorbency for patrons. Folded towels are available in multifold, C-fold, OptiFold[®] and OptiFold[®] ES configurations.



DublSoft® Premium Bath Tissue

DublSoft[®] bath tissue features consumer-like floral embossing for exceptional softness. Universal tissue is available in both 400 and 500 sheet rolls to satisfy any facility's need. The OptiCore[®] tissue provides optimum savings in maintenance time and costs when combined with our controlled-use dispensing systems.



DublSoft® Premium Facial Tissue

DublSoft[®] facial tissue offers superior softness for the most discriminating customers. Facial tissue features a colored indicator line to notify staff that product is low, saving maintenance time. The stylish contemporary packaging makes the flat or cubed box facial an attractive addition to any décor.

CONTROLLED ROLL TOWELS

| No. | Color | Dispenser | Roll Width | Feet/Roll | Rolls/Case | Feet/Case | |
|-------|-------|----------------------------|------------|-----------|------------|-----------|--|
| 06308 | White | 80010, 86800, 87510 | 8" | 630 | 6 | 3,780 | |
| 06300 | White | 80010, 86600, 86800, 87510 | 8" | 300 | 12 | 3,600 | |

FOLDED TOWELS

| No. | Color | Description | Dispenser | Sheet Size (W" x L") | Towels/ Package | Packages/ Case | Towels/Case |
|-------|-------|--------------|---------------------|-------------------------|--------------------|-------------------|-------------|
| 00048 | White | Multifold | 53200, 53500 | 9½ x 9½ | 250 | 12 | 3,000 |
| 00049 | White | C-Fold | 53200, 53500 | 10¼ x 13 | 200 | 12 | 2,400 |
| 00488 | White | OptiFold® | 53200, 53500 | 10¼ x 9½ | 250 | 12 | 3,000 |
| 00487 | White | OptiFold® ES | 53200, 53500, 53800 | 8 x 9½ | 250 | 12 | 3,000 |

CONTROLLED BATH TISSUE

| No. | No. Ply Description Dispenser | | | Sheet Size (W" x L") | Sheets/Roll | Rolls/Case | Sheets/Case | |
|-------|-------------------------------|--------------------|---------------------|-------------------------|-------------|------------|-------------|--|
| 06390 | Double | DublSoft OptiCore® | 80200, 80300, 82300 | 3¾ x 4 | 800 | 36 | 28,800 | |
| 06325 | Double | DublSoft® | 72300, 72600, 88400 | 3¾ x 4 | 625 | 48 | 30,000 | |

UNIVERSAL BATH TISSUE

| | No. | Ply | | Sheet Size (W″ x L″) S | heets/Roll | Rolls/Case | Sheets/Case |
|--|-------|--------|-------|---------------------------|------------|------------|-------------|
| | 06380 | Double | 72200 | 4¾ x 4 | 500 | 80 | 40,000 |
| | 06348 | Double | 72200 | 4¾ x 4 | 500 | 48 | 24,000 |
| | 06480 | Double | 72200 | 4¾ x 4 | 400 | 80 | 32,000 |

FACIAL TISSUE

| No. | Ply | | Sheet Size (W″ x L″) | Sheets/Box | Boxes/Case | Sheets/Case |
|-------|--------|------|-------------------------|------------|------------|-------------|
| 06100 | Double | Flat | 8 x 8 | 100 | 30 | 3,000 |
| 06185 | Double | Cube | 8 x 8 | 85 | 36 | 3,060 |

Availability and specifications are subject to change.

DBS-001/0513-2.5M ©2013 Wausau Paper

